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=T t(s;) - Z,
[ (—) fi ()

anEl (=) R < BRARRE I Mg dE i > 25 Z1 ~ Zo ZARIEERE ARy 2V fz 3V -
Vs=6V > Rs=200Q » R, =300Q » HIEV |2 B fif 2

(A)5SmA (B)8mA (C)10mA (D)15mA -
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(C)C R e (D)E Wi Rs =)

AR (SR B 5Ly 8 =100 » Vgg=6V > V=12V » Rg=100kQ) >
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BARY L EA(CB) ~ M5 4(CE) ~ L&t (CC) it N As =B Lt » Ry

1A ?

(A) A5 CC JiR A < i A e JBR Bty HH R RR [RIAEAT - FLRR 35 (2 i A TR AR Bl iy Y
AR E

(B) A CE k73[R BB R MCRIER » H CE flKas 2 Di=R I riE
HEHR=F EF'EE“'ﬁ

(C)HfF CB JRRZAEBEIBCAER » H CB K2 i FH T ke B BRI 2 HUAE
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